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Gaiss L

PART ERAl [ﬁ"[ELI.[GEN{:E & REASONING
: “4A 3 GENE pe | Pirections: In question nas. 10 10 14, find the
Drectlons : Is questivn nos, 1 4o 7, st add - word/lesters/munber paic/ fpaes  from

i n
miated watel et/ numrher/ figure  fram he §¢
altemorives

thy
given aliematives.

y Tenmi B) Cricket
1. Guimt @ Medisstion - Sefestie - 7 18 (A} Tennid L
{A) Rmar;l:l (;;;ruf;_l“.}wmjg: (C) Volleyball (D) Foothall
4 :;:_Jgh];T:m“l e (L3 Rationl i1, (A} erdficial {B} imsincese
+ hing C Polage o Fg i) . Y f
{A) Catavan "n{m Amylum (C) affected L) nuive
() Monssery (1) Hloo 12, {A) G6F B k5
3 ?:Aﬁlai&ms:;wu_ ? G 153 o 174
2 2] y G
=y OTYD IED!.I é"é,m 13, (a) 7:98 (B 4:162
4. SINGER : QGLECP :: MONSTER : ? ) 12:288 ) 172572
LA} KENSCR B KLMSCP 14,
(L] KEMLRCP (D) KLMTTX a] 5] Al A & |
BAR 12 ] : i I
W ®w o s P | LA b
B 12- 2069 e IRl ]
Ay 1537 B 16064 i {B) (<) (1
(Ch i27:48 (0] 30caz 15 Which ome of the given rospomses wokd
7. Qroestion figunes be . meaninghl onder of the faflowing 7
v | E— I Oranmge 2, Indign 3. Red 4. Bioe
o e .9 5. Groen 6. Yollow 7. Niokt
x I ; £V N S R e
S s (By 7, &, 4.6, 5, 1,3
Anvaer figures e Bl . S 0
e (B 7, 276, 4,1, 5.3
(=) @j + Cle] 16, Amango the following woeds = per order in
i 1 |_ the dictonary,
(A L8] (18]}

{1 I _Fﬂfm o] Fﬂ!m 3 Fn[n';mg
8. In the foliowing questions nunu}:er af Tetters - ;}Fim'ﬂll 25. Fuores
skipped i between  sdjscent Tetlers tn il R PR R R R T
ﬁu_hm@mwm&uﬁgﬁzdﬁ. €15 1.5, &2 LR P
g A PR 5
(A KOIVDG) (B} LMEViPE: 17, Which one set of letiers whon scquensiypy
() KMPTVEL () KPTYELM plaesd al e gEps in the given Sonter serjps
9. In the fallowing letier scies how nany shall complets j5 7
are followsd by N, bl ot preceded by oty LR Cr by oy
TRV RNV WMV VRN (A) ‘¥ yrxg '[B_}
Y¥sx
il E2 ENd 5 s () ”“:
SPACE FOR Roy oyt work

™y 12



e el

? T I8, From the given oltcmarh,
Srectlons ;. In question s, 18t 2 30 iy S Sl B e s
aven with oiw gy missing, Cloose Jete la tha wosd, oA toties Bty
alernagive from the i ey il Wik ol T -
5 ot Eiven anes LIETHANATION AL IS,
15 F e (A} LALTRAMUNTANE
AG, GAF, 1Al Iaf, (B ULTRAMODERY
(A} IAR TR i o
1Al bl ) LLTRAIST
e K (I} LLULATE
oo f A1 24, 30, 63, 7 6. From the prven oberatives seject fhe
AN 1040 my &7 which cowmmt e fonned using ::g I:llu:»Tg
Gy 102 (1) R the given wand.
20 -, 0,0 8 1% 24 LEGALIZATION
(a3 qoyr ol {A} ALERT (B)  ALFGATION
21. Quastion figurcs 0] GALLANT (D). NATAL
— i IT. In 4 cerain code DEPUTATION s wyithes u
AR ez | e ONTADEFUTL How i DERIVATION writie
ity ] T in than cede ¥
i el G B A R (A) ONVADERITI () ONDEVARITT
(C) ONVAEDEETT () OMVADERIT
Al i
fttor. Qe : I8 i MADRAS 8 coded as 517006 mi
i T I o R . TENANT i5 coded ax 432121, how would
%] @l i 'ﬂ"' ¥ou encode RMATSN
-+ {--] e |1 F={en] [l (A} §51353 (B 951383
T' . 0 951462 M} 541562
(4] (5 (e} 2] 2%, Fisul the missing nember from the gives
22 Gewind = 43 years obl He s raviee s old CESPUBERS;
ug his son Prom is nowe How ofd wes Prem
sevem years hefore ?
() 16 @7 (0B @ q
2. Painting 1o % mom, 3 laly siid “Hls moder is
e onky doughier of my moker”, How it
the dndy. related 5o ths man T j an | 3
[A) Modher B} Dasghter
{C) Sister (D Aumg
24, Five palicemen are stusding b o mw LR R O LT (8. i &
south. Shekhar is ud te m‘lﬁ_ml-e '['Iilﬁ'g 30 I Y swmide e P oends for e
Dhossh,  Daln i hetweort Shiagia= gy <" sumds for ‘=" then which one of e
Diharush. Duvid i3 a0 the cxvems tiphy o il e T
ufﬁmw.“’hn::mnlhlgmhmw (A LT 3%9= 148
ithe Tom T L
[ ) A3x5 10430 =320
g e % Lot (] T+28-3%352= (27
(€3 Shekhiar e {D) 44—0=6x11=87
SPACE FOR RoGH WORK
A - DL20I4 g

D

4 Th 2P



AR T

SN A
e Mlt:' . :‘_::E | B8 Sumber of IREICY o g g

31 Somg cgustics arg galwead o el g j

Cerimin sysigm Fird ihe b::i

e umsafyed comarion o WA |

Sef=15 Bad=my gud® o 38

LR - PR pathi-
3. Seleet the oo cantpip#®f "rp': i

matioal sigs 1o replica # ¥ > ;

Bl the faliewing cquation L b B @ @ u

1241 g = fiadaf

L G o

1O = (0 e A0
Direetions ; In quustian nos 13 and 34 20
FUSSHE cumber from b piven responsss:

{A) 1T

B0 am aml ohserves ' his shadow fo his
sight. Ta- which direction ke i5 walking 7

(A} Narih By Somh'
{C) East 0 Wegt

36, A beal moves fromo A jeily I0arcs . oy
After sxling for 9 mwl.il:u]'milu, sha rl.hm
rowards Tight and covers st 13 i
miles, I she wints o g0 buk g Ry iy
what s the slioriest distance now g J&
ool pusition T Y|
(A} 21 engienl miles (B) Eﬁm
() 18 naurical mibes (D) [5%—'&“

3. Four pesiilons of a dice BN e el
Memiify. the mumber at the homan whe oy
L

Urmestion figumes
®® @ ¢
(A 1 BY 3 fc) o4 (-5

9. Mentify the dispren du: hoat meprosents the
relsticuship smong clisses given belgw -

Food, Cid, Spoves
|

(ALY

(B

A p @3 @4 @2 ;
“ﬁ'%m;‘ﬂ WORK ;
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Fis
nas. an I.h"'"h"lmn

Mrectivns 3 In qucation
follwed . T o W

stddermenis  gre [

1 : Even (- r
conelusions /assumptions respectively: Yoy if ¥
mibd:rﬂ IE:: stalemens e U“*m *-"“’“":

T al vaigsce from GBI givel
fstls. You have o degide whxh of u:rru{ﬂ tha
sonckusions) ssenpions §f aay, B

Blven  staterments, 5 ot All
g Ures-

41, Suement Pictares cad 2l
story  Backs have e
Sotne  sory books
=
Conchsions ; ].urFﬁim:! qin iell 3 H0Y
oty thay worls =5
1. Fhe storics in siory 0

ook
HI, Some story books BVE

% Cnly conclusion | follows
Only -conclusion 11 follows
(€] Only conslusion 111 follows
(B} Both conclusions 1 s [T follow
42, Ststement It is desitabls to pui the caikd
in sehool at lbe age of 5 00 50,
Assumptions 1 L Al that age the child
reaches aporopnale kel
of developmenl and &
resily (o dearn,

I1. The schools do not sdmnit
children afler & vears of
nge.

(A} Only Mmmi.mwl = implici

(B} Only assusmption 11 i implia

{C) MNeilher g | onos [ s iyl

{I}) Both ssswoption 1 oand 1 A implica
43. Which ansecr fgure  will GOyt

patrer i the question figue

Cruestion figure

2

Answer figures

¥

A (1) )

il
oy \

4. From the  gmven apsser fizares. s
oate i whach ihe Husstian ﬁEl.llEl -‘;’L"-I-rE I':"'-
cmbexlied 8 hidgey,
Cuiesdion  fgure

Angwer figures

HERE

(A) {1y (< L]

45, A piece of paper is folded snid cut as show
hn!:lw inthe  question figures,  From ﬂ.g
Hiven answer Tigares, mlicale how ot wi)
appcar when opened. 1
Question figunss

Answer finires

b ga Jl_- ] LR
A %oa_aj‘}q H ;_Ajo
(A (B) {c) (b)

46 IT 2 mirror 5 placed on the line MN, (b
ﬂmhnf&:mﬁpmhm&gh
image of the given figue T

Question Figure
M
z
Answer figures
T [ e—— _tmmi KITACADH
, ]
{A} [B",l () (3]
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47, A word is represemied BY

48,

. can be represented by S0

. e -
i
memhers &% given in any
patves. The set of wamb®® Iﬁi‘
ahiermatives are pepresanted B
alphabets as mmm-. nuhiiﬁhi;ﬁ
The colemns aml pows OF _Fwﬂ‘iﬂi]]
numbersd from 0 (o 4 and B30 o
e numbered from 3 w';'-ﬁh’!wiu
these matrices can be sep be
Tow and mext by its coleme, ©B
epresenied by 40, 01, 03, M '-;-

4=

Similarly, yet have bo identify the 58
word given below ;

S[X-KIDS.
Matrix [

o

B |
ol b b bad bl

e
| i o
[ : lﬂlg.!:-cl 5

2
L
KA
F
I
I

bl el =

R b LA LA R AT

e | | s
=Eiwmsie o

|

i

(A) 86, 8T, 9% — 40, 41, 36,

(B) 98, 9, 85 — 42, 78, B, T

(Cy 77,68, 76 — 22, 95, 28,'31

(D) 65, 55, 67 — 05, 25, 81, 40
o sk 55 P
(A} Warn ber and let her off

(B) Warn her and give Ber comgep,
{C) Tell her parents

{D) Put up her mame on e boggy

44,

An o address has becn gy i
hes bocn toprodiced st A, B, <. o'
altessiatives. Three of these bave some. .D
or the other. Lentify the e wi:i- FILLELaRe
misiake, R
FG EURQFRED LIMITED
Centennial Park;
Centernin] Avenne,
Elstree, Hertfordshite
United Kmpdom
WG 3860
1A} FG EUROFRED LIMITED
Cenatafimal. Pask,
Elstee, Hentforshre,
United Kingdom
Whé 318G
Fii EUROFRED LIMITED
Cenctenninl Park
Centemial Avenus,
Eletres, Hemforbshire
Undted Kingdom
WD 180G
FG EURGFRED LIMITED
Centenniu] Pask,
Centennial Avenue,
Elsiree, Herfordshire
Unised Kimgelom
WD 3806
FG EURDFRED LIMITED
Centenmal Park,
Centeninal Avenue,
Elstee, Hertfondshine
Uinited Kingdom
Wk 1503
Given telow are nuembers in the fies linve 2nd
sumbols in the sceond lme. Mombers. and
symbols are code for ewch other. Choose the
correct code for gaven symbols
T AT N A S e
& = » = * e n p
Which number can be decoded from the
following

(5

(E)

(o]

= O w

(A} 586237 m s6873
(C] 573613 m). 58367

‘CE FOR porGH WORK



PART - B : GENERAVP
gt
Slln the balwnce of payme® e aleo
uniequited receipgs apd PR
regarded as
[A) Bilatem] trangfi
(B} unilafersg transfers
(7] capinal BECOAL rans e
1) imvesibibe rarnders
51, Price and Oufpal e dejenmmales ®
sbructure ciber thin
(A) mosogaly
B} perfier competition
(C} olgopoty
() manopsomy
53. A philosophy that the warker should S
m indusiria] decisions is jemned 5
(A} industrial demoermcy
(B} worker svoreignty
() nclusiria] soeiaHam
{0 worker dicgorship
54, If avernge cost falls, mergizal oot
(A} imcreases at 3 ligler i
(B} falls a1 the sume e
{C) increases at-n lower mie
{13} falls at o higher e
55, Which one of the follywing d;dnma loag
term boans o private mdusicy i India 7
(A Feod Comporation of Inda
(H) Life Insurance Comoistion of Iz
1€} Primary Credil Sociely
(13} Land Development Banks
56. Most smporant safeguand of By &
{4) bold aid importial oy
(B) well-nit party syatem
() decentralisation of power
(D) dechartion of rights
57. What = the ancient school of Ly
(A} The Philosophical schood
(A} The Historical Schaal
() The Analytical School
(3] The Socinlogical Schood

parks!

A - D132014

_UwLE[J(:E AND GENERAL

12

AWARENE g
58, Liberty stands fur
LAY abdcnce of resimin
(1) consisis i the pregune B e
RS Festenigy
(L] ::::;:;h enjovied iy SOngenial gy
(I3} the eaper mainenangy op
phere in whicl ey ml:m‘::ﬂ i
iy 10 be their best b ;-"J!i'.'n:
F When ihe Wice-Presiden i ok
President he Mg m
L will Teve ail powers ung funag
both President snd Vice Progent
i1 gets all the nllowances s
of the Presidin SEER g

I, should confimge ¢ work a5 he

Chudcman of the Bajyn Sahla
L I T T B {B) 1 and jj1
(G} T and 1 BN only

60, In Presidetial Giovermnming, the: Bresident ks
A} independent of the Legishiupe
(B} dependeni on the Leyislatnne
10} dependent on the Judiciary
D). honand:- by the advice of the Coameil of

Miniskrs

61, The method of amending the Constitution
by pepular veto 15 found in
(A} Biitsdy () Switrorland
(C) Russia (D) India

62, Which of the following is the iralisnabie
attribite af the parlismentane system of
governmen) T
{A) Flexibility of the Constitution
(B} Fision of Executive and Legislature
{C) Judicial Supremecy
{13 Pardinmensary Sovercipnty

63. Which one of the following kimds of
cquality 15 mod compatible with the liberal
potion of equality
(A) Legal Fquality (B} Folitical Beuality
{C) Social Eaquatity (D) Economie Equalay

4. Which wus the second  eapital of
Akbar?
A} Delld {B) Apea

() Faieh-pur-3ikn {1¥) Puna



63 The fipg
0| ‘hich discoventd Aea
e by [rieliy Wz which

fartiapa| :
(€ Trench {EE% Ejzﬁhuli!n
&6, The anificagioy of Kamataka was schisved
the oy
{A) 1556
(C) 1958 EE} :ﬁ:

67, Wha introduce 4 % =
I 1
FAY ok 'E?um:r.w udinn Universioy Act

(1) Lord Mt
b g}u Lomd Mosalny {13 Lord Rippon
% mT;:f mvellers visined Indin prinsrily

[AY they were interesgod in Ruikdkism
(B} they were invited by the Indian klngs
(C} they werd intor=sted 1o siudy Indian
culiume
M they were ittenesned i stay m londia
69, The first shor bassyl intopmicd stecl plan
in the country is
(A} Viiavnagar () Salem
(€} Vishakapatram (D) Bhadrvami
T, MName the condition which inflwences the
developmer, of plunts imie disinctive Fonrs.
(A} Climatle sonditions
(B Boil conditions
(L] Enviropmesal conditions
(D} Socinl conditions
T1. Apriculiure should erve = oninstrument
‘of moome, lvelibeod aml oppodunity 1o
the jocal commanity — this ﬂmaﬂ is
gmen by
{A) I Madbavan Noir
. (B} Dr Meomohen Singh
() Dr Abdul Ealum
(D) Dr M 5 Swaminathon
T1, When wis the Geolopical Survey of Tndia

established *
C(A) 18 (B) 1851
(€ 1941 (¥ 1951

73, Development fhat meets the needs of the

preserd, without compromiising the ahiliny of

firture Generanons to mect their own tes
was the focal point of Brndiand Commis.

S0 15
(A} sustainable development

{3} mitigation
() disndtiT ARG ETIEnT

(I%) capaity building

A - DI 2014

T4. The pancreas seorees
(A Tnsulin {B) e pice
{C) Peptic juice (D) Mone of these
T8, When we touch leaves of *Touch me il
plant”, they aloss, these MOVEMENS e
called

(A} photormstic movemenls
(B} myctmasic mevements
(0] - seismeantic moverents
(1) chemonasic moveTenls
T6. The concept of tissue culture was infro.-
duced by

{A) Halfmeisier (1) Hanstein
{Z)  Haberlandt (D) Harumng
7. Besk is formeel by
A} checks (B jows
(C) teeth (1Y) none
T8, Finno (extermal car} is present-in
(A1 Amphibian (B) Fish
(0] Mamemal (I3} Reptile
79, Purity of 3 metal can be determimed with
the help of .
{A) Pascal’s aw
(1) Boyle's law

(1) Conseryation of mass principle

20, 1T both the mess and the velocity of a bady
& ncrensed o twice of their msprinde, the
kivetic eneegy will increass by
(A} T times (B) 4 iimes
i) B times (D) 16 times

8L Two bedies keptiat a eermin distance feel
a grovitatiomal force F o each other. IF the
distanice between hem is made double the
former distance, the force will ha
(M) 2F (3 LiF

{C). 4F () iF
B, Stationary wave is formed by
(A) 2 Eaisverse wave supeiposng 2 longi-
tuddinal wave
(1) t‘l.=['ll waves of the same speed super-

Poeing

(Ch two waves of same frequency travel-
bt e the same direction

() %0 waves of same frequency tmvel-
Tt . the oppasite dinsction



(e Tik2
B3 Which is wor s exgerisian 069 paks
A LEE TR TR i
(A ipeg Jng
) e E’;f-. F
B4, Which messyee of memery ¥ “ i
(Al MB Mepabye (y Gis G
(€} TH Tembye () Kis Kilo*
85, Which of the following & the M
nuber of elesirans fhat can be et !
M-glsel] 2

W2 mas e @O
His, In_nn oxygEen fiofegule, v AW i

Tl IJ:,-

(A0 oo bomd (B} twi bonds

€} dhiee bomds (1) four bands

BT, The men gis which is suheisted for
ntrogon i the air used by deep sea divers

far bresthing i
(A} Meon (H} Krypion
() Argon (T3} Hiliues
B8, How Tndsy neulrons ane there in g 05
o 7
(A} 92 (B 218
. AG) 146 (3}, 330

BY. Roob pressine i miesmed
{A] Baomeier (3} Ao
) Manomieter 1oy :
S, Uell becomes wrpid beemse of
(A) Flasmolysis | (H)
(C) Endosmosia (1) Diffisige
21 The process of imbbition Sdve;

(A} Diffission (B Copilliry agion ;

(C) Absorption D) Bog [A) & i#]
92 A cell increases in voline e

placed in b
(A} Hypertonic soliion

(B} Hypolonw suhition .

(€] Tsoinnic sohution ERHS)

{0} Mone of these

03, Who lounched Mational F%Pmy o

Sth January, 20137

{A) Somnath Chattesjes

(B) Shiveaj Patl

(C) K5 Hepde

{I¥ P A Sangma ;

A— T 2014

M. Which Indin Unjversiyy pg,,
Ressarch Award ]I:Hill;]} ;|n,|;:',':di;|!f?’i
Congress F i
(A} Uversity of Diplhi
(B) University of Kashimir
() University of Mimbi
(1) University of Sikkim

95, Who wos the ﬂr.‘f1 WA Winner of Kay
Baneipn Crorepati 6 7
{A) Kian Bedi
(B Laa Mangeshkar
(€} Sumeet Kaur Savdhiney
() Priety Zinta

9. Who was sppomed new United State
Defenge Secretory i Bamuary 2012 7
(A Domsald Bumefeld
(M) Hobert M Gape:

(Y Loon Panetls
{2 Chack Hagel

7. Who wak the charps a5 s Dheputy
Governor of Rescrve Bank of India i
Tnvary 20137
(A} Utifit Patcd
(H} [ C Rappgarajon
) 5 Vekimmmann
D) D Y Venugopal Bediy

98, Which pelitical leader was sert 1o jail for
teacher recruitment séap in Janune 2083 *
{A) O Prakash Chaniala)

{B) D V Sadariandn Coveda
{C) Raja Bhaiya
|';.I}]| Quiresh Balmacli

99, Which player got stripped of his seven Tour
de France titles sl pot basned for Tife
after the Imtermational Cycling Union 7
{A) Nicok Adame
(B) Cliris Hoy
() Lance Armstrong
() Jasom Eenny

100, Who won the Top Ranker's Entmepre-
peutial Path Breaker Award 2003 7
{A} Prof D K Bundyopadhyay
{8} Ajay Shankir
(C} B Prasada Rao
(D) Pratip Chaudhiun

3
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o QUANTITATIVE APTITUDE

PART - i
106. 4 can do § of work in 28 days, B i

i ] i 10l-
101, Evaluste 23 £30 do g of e fama work @ 20 dae.
valugte T number of da'm ey will 1ake 1 '-"Jl‘n||!::_-

(Al 2 (B 3 if they: do it together i

) 4 o 4 :
102, Three 1k : [.u'ﬂ e, 4% IiI‘:: i, g e 3

g mmkers Gontain : :
465, Hres of diescl NW|H¢|¥- IT::G&" [[-j ]‘:-§ 'J'&!I'5 {I}} !3‘11" dl}‘s

maximA cxpagity of o cousioer : '
tmeasure the dizsed of the cotSiEC | 17, Seventy-flve meu are employed 10 ly
ki o g i down o rEilway hiee in 3 mosths Dhae to
(AY A1 litres "”;]5“ g2 lies gerlaim emergency canditions, the  work
() A1 e (D} 54 Jitres was.mbuﬁms:udm 18 deys. How mamy
. j more men . dheudd  be  enployed @
103, The valua of complete the work in ibe dosked fime? 1\

3o [(B-5)+ fa-2)+ o] & (4) 300 (1) 325
(A) 1 ® Ti {Cr 250 (D) 375

108. A wader who marks his poods up B S0BE

© _; = %ﬁ offiered u discoum of 20%. What % profis i
04, 0F 4+ meane ‘% X" mens - fhe trader makes afer offering e

e means %' and =" peeend '+, whial payent

will be the value af the fllvwing cxpres: {A) 0% (B) 7%

qion. 7 {C) 20% o) 50%%

4+ -Fx3=7

9+314 MR 109, A retailer buys & sewing maching 81 &

(A} 6y ) & discount of 15% and sells & for T 1955,

o) _]} ) 14 Thus hﬁ.h'l.lbt.'! o profit of 5% The
105. The noxt term of the sequence, mq:?: By T2

(1) (1+g)1=dh (el dine gy (C] T390 Dy =310

is 0. IEx:y 22: Y and 223 30 458 e value

(433 (B} §:|+%}| of ¥ is

(AT 6 (8] &
€3 () {1+ djrady () 4 {D) 12
SPACE FOR pouGH WORK
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-in 116. In an exapdmation 75% candidates asged

NI T73 were gdivided :l‘“:ﬂ':i l‘:iiﬂﬁ s in J.ingljill".,md. .-a':ﬂ'.l',’.. Pl i Minthe
such a way that it 4 g5 S " et T matics. 25% failed in pgg, and 244
.1'.1, andl iF B guty w350 el ot L by pissedd the examination, Find {he tol
The shore of 8 cxcomls 'h:] mariber of candidates
| (A) ®30 mx 2
i e ) T (A 492 (B 200
; {C) 500 ) 400

f X
1L A boy fumd tha  the 3"_“'3'[! r:mbﬂf
mtmbers w35 when he wiols ‘gﬂ.EL'- af | 117, IF $0% of 4 of 1 of
“61° msend of 16", Tho oot i 1 Sy e, . 4%
then what i3 1% of the same nugber?

20 mumbers i
(A} 3275 m A} 20 (E) 2
(C) 3475 (D) M (&) 10 {1

13, 11 fricnds went 1o 4 hosel and desided 10
pay the Bl smoant equatly, Bt 0060 | 118, A andent goes 10 schogl ot the sme of

them could pay T60 each, e nelf £ kmhr and reaches 6 mimutes lare If
3 & shre.
;fﬂ“{; m"" pay tm“;",:ﬂ be tmvels at the spoed of 3 kmihr, he
_:lmml:. P renchcs 10 minutes carlier, The distance
{A) * 105 (E % 110 AP
5 (D2 {A) 45 Tm (1) 20 km
14 A tea-merchant profeases %o sell s gt {C) 10 km {13 4 km

cost price bl sses o Rlw weiphi of
) prani for 2 kitgmm The peofit | yyp s gwin S0 mee Iemg passes o platfeom

perceat in his ransedtion & 100 matre, o i 19 gec, The speed of
{A) 1142 (Bh 1im the train i km/hr is
{0 g'lil'% fu: 15% (A} 10 By 34

{Ch 15 {12y 100

115, Mahesh exmed a profit “‘Tn‘i“*hmm
G0 _applex & the mie OF T4dsy g | 1. A sum amounts dapble in B years hy

5 apples, Then the tatal cost o g sirple interest. Then the mbe of simple

the apples were bought i imkgeal pa. is

{A) T452 () ®apg {A) 1P (B) 12:5%

() T 430 (LX) %4 o 159 (1] B
——-______1__
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121, Rekha invested o e of t:‘ﬂcﬁﬁ She
: : R

Por amnpmg uuumwn.dt II_!ﬁ[r {1l

received an panouny of

venrs. Find m
(AY 28 years () 3 yours
(€) 25 years  (py 20300
et of first

The bar chan Mepresenting the mum
year B Com. swdents of St Xaviers
using different companies’ sman p0E: &
bar chart and EEWET [juestion nes: .Iﬂ o i

(] v
s

College

e

o, of S derrty -
r‘fau'ﬁiiiii _
£
— = il

R

Foldn  {mlen

“Tn sy, s:vi-
[HiEven San phons ooppinics

Tha bar clian Tefrescaliey tha g o wadean
i g differci dmee phones,

122 The rtic of the number of hoys io the
number of girls using the sman phones: of
Samsung and Sony together 5

{A) 12313 (B 13:12

(Cy 141 Dl 1
123, What percentage of BO¥i aze msipg the

smart phones of Sameumng 7

(A} 16-52% (B) 17528

() 18-52% () 1557

S e

124. What percediage of girls are using gy,
=mart phones of Nokia ?

(A) 33-58% (B) 32.58%
(C) 30-58% (D) 3155

125, The difference betwesn the tofal nushe,
of sedents  using  smant phone gf
Samsunge combited weether aad the g

sumber of siudents using smeart. phone of
Zony taken topether is

(&) 20 {B) 60
{Cy /O (D) 40
126, The mdius of a right circular cone j2

Yom and itz height &5 4em The ol
surface area of the cone i

(A) 484 so.cm (BY 644 =q.cn
() 964 siq.cm (B} 754 sg.em

127, A wooden box of dimension 8 metre
T metre = 6 metre it carry rectangular
boxes of dimensions & om % 7em ® G om.

Tl maiom number of hoxes that can
be camied n | wooden box s

(A TH00000 (B} 920000
() 120000 (I¥y 1000000

128. Two circular: cylinders of equal volume
have their heights in the wmtio 1: 2; Ratio
of their radii is (Take r=22)
(A) 1:4 (B) 142

(C) ~2:1 D 132

S DL

e
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129 A rectanpuige Priece of along 1%

o Tem by 13 om s T"I]-.hﬂ ol

benpif 10 fonw 5 cyliedes fmed =

{n cm®) of the cylomdet 30

fose x=2)

{A) 562 (w412

() 462 DX
130. A splete is placed inside 3 D80 O

Cvlitler 5o as 1o woach the (BF BEC

the Inferal surfsee of e 6')'1"'1“' af

radius of the sphere i 8, the Y0 P

the cylinder ia
(A] 2mif (B &rr
() Brp o) 2k

12L If g = 5445 Budbens
then 20— S0f 4 24 =

(A) 38 (B). 39
(C) a0 (D) 41

132 If p=+4
then 27p% L2 pt¢lp 5 equal to
A & ®) &
icy & oy

1331 'H]IE =2, then ;m”+ﬁl?=1

TAY O o pis

{C) =1 (e

134, 1f @ = 331, b = 336 a0d'¢ = -667 then
the value of o + 5+ gop.

135, The simplified valee of {2
{\:I‘.i P T P a.'..'in:llll-.:l!- TP 25 - -.="|1E [
{A) 13 (H) 12
(Ch 1 (D7 10
AR By
136, = = ——— =T
In a AAS A0 Dee LB =TI fnd
LE=50F, then £BAN~7 1
LA 607 (B} 20°
iy 30° (0y &0

7. In a2 A AR, AP BEmnd OF e three
mediang, The perimeter of A RO e
abways

(A cqual to (4D + BE +CF 1
(B) greater than (A5 4+ BE +CF)
() tess than (45 +BE + CF
(% None of these

138 In = 4 ABC, AD, BE and CF are thres
medians. Then the ratio
{E+FE1-CF]: EIE-}HEWE.':I 15

[A) equal s (B} less than §

(€] greater than 2 (D) cqual w ¥

138 Two circles with mdii 25 em and 9 cm
wuch each other externally, The length of
the direct common tangent is

(AJ 1 (B) & (A} 34 cm (B} 30 cm
cy 3 (DR S (C) 36 em (I} 32 cm
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"]:'ﬂ'.'lf"ﬂiﬂ#i;- b ﬂ*wﬁ??}

Biis
A A

(#) 3= mdan  (B) :fs--ﬂ'm
it *;E mdfian ) .E- eadien

142, The simplost vadue of |,
S0%a 2 tan'e — 3 gacty o cos'k 18
(A1 (B) 0
(L2 -1 (L 2 ANY

(R M43 A Jdte s flying a4 o height of S0 mere

IF the loegih of string is 100 met then
the melinaion of siring to the honsomml

h' mrond in dopres measare 4
! [A) o0 (1) 60
) a5 (o} 30

144 From the top of o lighthouse 5 o height
20 motres above sea-lovel, the angle of
depression of o ahip is 30° The disinee

* of the ship frum the fiot of the lght
(A) 20 m (8) 203 m
1) 30 m (Wi_ﬁ:
_ 145 [ 5 = a sinf and y = b bl
| & 5 5

Y [ ¢

The foliowing pis<chan’ shows phe
expenditure of & family on food, hogee ren,
clothing, education, fuel and migeq
Stady the pis-chart end amswer e Doy,
146w 150

146 If the capenditere for fbod i L
thet the expenditure for edscation e
(A) T 5000 {B) € 5200
() 5400 (17} T 6000

147, The cemiral anple of the seciar for the
expenditure on fus] (in degress) is
{A) 50-4 () 54
{C) 537-6 (i) 72

148, If the expendiime on fue] o 1000, then
the totnl expendilore excluding copendi-
ture on house ment and cducation is
[A) 11600 (BY ® 1200
(C) & 12400 D) = 12504

149, [F the percentege of mpenditore on food
ig x% of the wotal perveniage of expendi-
Tare on chothing, education and fool, then

X equsls
[A) 66 {B) 1515-%
{C) 663 {2} 67

lﬂ.ﬁ;ﬂmuf’ﬂpﬁ.diﬂnﬂnhm
 rent, chothing and fuel is greater than the
percendage of expenditace on fiod by
A} 16 (B} 1T 0y 1R ()20

O GH WORK
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PART - c5. gontie
Directions - In qusstion nos, M1 ¥ 10 e
Pams of ihe sensences have mﬁ‘"dwx :
corrost. Find oul which part urnpfﬁlﬂ’dipu’
o eteur i blicken the oval ] CEFT L
0 the uppropeiate letier 4, B, € H8 .
5 fee from eor, blsgken e 67!
ponding w (1) in the Agcwer Shitt

151, Im 906 wirthqualke ﬂbﬂ__i_ﬂ
Ay . B

i" of San Franciseo, Mo s,
i () o)

152, His parenis does ot spprove of
(A3 (Bl

| iz husiness. Mo siror,
] ©. M

153, The college fibrary is
()
n:-:-uuﬂ_-rcanI will

| {BY.
Jrery gl books but alsa with the e
L il ()
3 oumals. o spor.
i ol

1
:|' 154, The lovers walked hmHﬁ.m.;hm
i {9 1B}
i ingilence. Mo error )

rl-
@ oy et

Men are wiiiled  for the .
i (A {ﬁjl.ﬂ

mmm,nrﬂ#mﬁmﬁ__
i)

A -E._D,J-E'I;E'Ed » £ -l.-. lll -I|1' . Il-.-. 2

ENGLISH COMPREHENSTON
m:

fipecsfons : In question nos. 156 fo 160
sentences are given with blanks 16 be filled
with an approprete wWonlis), Foeuar alermatives ase
Supgisted foe cach question. Chocse the cormest
alternative out of e four and mdicats it by
hlnekening the appropriale ovsl [m] i ihe
Anzwer Sheet

156, China js a big eowury, in arca it is higeer

than any other country _ Russn
(A} aceept | 7 Yg——
(€} expect (D} scueas

157, The masks worm by the men heelped them
their sdentity.

(A comocal (B8] oomgeal
1), masquerade (I3 chiear
158, 0w the _ otengion of Laxmi Pija

ihe Mathurs bought & new car
() officious () aospicioag

{C} fonisous - (D prosporous
139, Precautions are to be taken with Any Qg
who geeniy B,
{A) comagious (B)  mfections
L)+ diszased (17} e filieed
168, The reasane was hidden _ o big
shiwro
{AY on (B) undemeath
{20 bovevard (1) off

dhirectfons = In question nos. 161 1o 168, o0y of
the fote alteratives, choose the one which besg
expressed - the meanigy of the aven word and
mark i in the Answer Sheet.

161, Scom
(A} concise (B, despise
{C} bins ) fieres
162, Catastrophie
(A} TRy (B anger
(0] vinknge {1} hatred
163, Abjise
{A) renounce (B)  annoomce
(€C) proviousce  (13) denounce
i 11!";_. S Ak




q 1ad, Asseas
(A) overlong

(13}, measure
oy i :
Permit it g
165. Elustic
I"l ]
H L] (1) liberal
=} Dexible (D) it

Birectiony - In question nos, 166 160 170, chooss

::! m‘ﬁj:‘:lmz\ilefr:;hc Hiven wonl
16, Safe

A} rash {B) insccans

() hﬂ:ﬂl:l'lc'n]_ (I3 har=h
167, H{’d‘umialn 1

(A} repentant (18] surplus

(C) .singilar (D) required
168, Fair

(A} untpe (B unjust

(C) ceoarse {19 harsh
169, Hoisteroas

{A])  serunity {H} calm

{Ch cheorful (1Y) courageous
170, Substantial :

(A) fimsy 8] hefty

() - actual (D} excess

Direcriong @ In question nos. 171 1w 175, four
alternatives are given for the Idiomn!Phrass
underlined in the sentence. Choose the aliemative
which best expresses the meaning of the ldiom!
Phrage and murk it in the Answer Sheet.
171. We st work with all cur might and main,
othirwise we cannot succeed.
(A) full force (B) complete trus
(€) exceptional skill (1) flk unity
172, The sailors nailed theic golaurs o their
[HEEIS
{A) put up & colourful mast
By refused to climb down

() took over e ship
D) decided 10 ahanidon the ship

A— 204

we had {had) better batien down (he
yarches. The esher I unpredictable

(A) say irdoot

() prepale fior o dafficult sitemlon

(£ o somewhers s

(D) face the obatacles

173

I is di[ﬁuﬂl o lave a semsible discussion
with her as she flies off at a tangent.
(&) pets carried avay

() sws dicussing something irrelevont
{C) loses her lemper cadily

(I3} does ot renlly understand anything

175, The smudents found it hard to go et equal
gpeed with the professor.
(A} get away fioan (B} put up with
(€ kesp up with (D) mace aguinst

Directions : Tn question nos. 176 to. 180, 4
sentencedn part of the sentence is underlined.
I3ebow are given aliematives o e underlined
part at {A) (B), (£ which may improve the
sentence. Choose the comeet altemative, In case
no improvement is nesded vour answer is (1)
Matk your answer in the Answer Sheet

174.

176. He will revise ot when he s comes back,
{A) when he come back
(1) on coming hack
) when he come back
(D} Mo improvement

T The members of the student's  umion
did mot give the cxamination in protest.
(A} did not write
(B) did mot sit for
) did not show up: for
() Mo mpeovernent

178, She was kept from her pasigmment because
of her lﬂuatﬂ roOm-mate.
(A) roasy (B} imiialig
() talkative: {D} Mo prostement

PT.0.



 feader
179, James apitomtiings n.."-'l-“'."ﬂm‘IE o
should be. =
(A) worshipg ) 1 et
() adones (13 Ly

1 ﬂ 3
180. The businessman is ’BTPE.D'L*! ol
(A) ropectiully () POERY
(C) roceptively (0) No PP
nos, 181 10 185, oul of

Directions ¢ In queestion oh can

-the fiur alternatives, chogae il o w1 i

be: substituted for the piven word! 1
indicate # by blackening the ppevprisic val [
in the Answer Sheel

181. Oné who offers his service of his oWi
Trew wiill

(A) Worker {B] Shkwe

(C) “Volumbeer {0} Servant
182, Ume who is rdwq_'\_r; dwhdins

(A) Sceptic (1} Deist

(C) Rationnlist {IV) Pesitivist
183. A collection of slaves

(A) Coflle (B} Crew

(€} Company (D} Cortege
184. A professional soldier Rired 1o serve in o

foreign oy

(A) Miruonary (B} Liquidaioe

() Venal (D} Hirekng
185, Mot likely 1o be easily plesid

(A} Fostidious {H] Tnbilikie

(C) Foalist (D) Cotmmpeg
Direcions : In question s, 186 4, 19, four
words are given in each questiog, oy, Uf':‘iﬁuﬁ
ouly ome word it comety iy g
cormectly spelt word and mark y, Eswer ;
the Answer Sheet, e

186, (A) Pusilliont BY Presupg,
() Dubias (01 Bepplegs

187, (A) Ineffectual (B Tiffecyyy
() Inefecsiual (B Inefieyg

158, (A} Massacer (B} Mo
(€] Masnars 3] H%

A — DI 2004

ok e

189, (A) Conciance (B) Consience

{0} Consciencs (D) Connscience
190, {A) Minand () Mirvena
{C) Ninvarma (I Nyrvana

Phirections ¢ In queston nos. 191 1o 200; you
have two beel passsges with 5 guestions
following each passage. Read the passiges
carefully and choose the hest answer 10 each
question ot of the four aliermatives and mark 1
by blackening the appropriate oval [«e] in the
Answer Sheet.

PASSAGE 1
(Question Noa. 191 1o 195)

Street theatre i Encia s 0 well established

anciet art form. Despite the proliferstion ‘of .

madern means of enter@inment and commurnica-
tion, strect theatre continnés to foerish in India

Street theatre a5 a channel of comminica-
tion has for centuries been propagating reforms
by highlighting social, economic and political
issues present in the socicty. Unlike in the olden
days, iteperformance s no longer restricied o
villages or smaill localities of e city, Toxkay small
groips of performers meluding smdents, would
stage performances o mobilize pubhic opitian of
to help create or fuise awarencss over g
particular issue of. publie mmporance. Themes on
submtance abuse, AIDS awareness, and domestic
viabenice e some of the areas highlighted by
contemporaty slreel theatre troupe, Unbike i
repular drama sireet drama employ very litthe
props and images. The human body becomies (he
mam boal Wh‘i:hdnfcugwh}-,m dinkopues,
songs and slogans are exlensively ised

_sw_:: theatre i me of the most intimate
medin. 115 appeal is 10 the emutions leading to
quick psychological fmpact on audiences. By
En:m.g_ local amd Tive they also are ahle o
ﬁtllhltﬁh oL only dinect comst with ghe
md:lﬂa_m: bt by being “osl-offective and flexihle
they are popular among a1 age groups,
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191, Modes
Gnm”‘"nlcmg
1|:A} thocs affopy j
{'c::l l:c{m ftﬂ'ﬂ.l;;u-bu_.
192, In the Dilehiapy
tax vﬂ]a@m o
LA)
(18}
(]
{257}

6f  entertpimment  2od
slreet theaire

{B). does not atfic
(D) Taelpm catablish

days sireet thonre
W amall localities of the <y,
5 resiriceg

WA 1108 rearicied

WIS opemed

W5 entertained

193. Street. theatre usuatly
of public 'mllmaucr:‘. v
(A is diswnced g s perfommed

X with fsues

L e (D) docs rot deal
194, Strect theatrs & 10 snge,

(A} nothing VB coatly

{C) memsonable (D) affordable

195, Street theare  crealss  anda
imp“’“ o andiences.
A} imimiste (B) emotional
() miystical (D) phiysical
PASSAGE IT
(Duestion Nos. 196 200}

eli-directed

lenmning, in  its brosdes
process in which individials
or without the help of
others, in  diagnosme their learning - needs
formlating leamig poals, M[}-mm
grraegies and ing Jeaming, mstcomes. This
itisi:upuuﬂl!wumiﬂwkwwwumnyw
Ik‘l'l]full].rihflhcml of his or her life.

hat s the seed for selfdirected learning 7
. {hat there is convinging evidence
the injtiative in leaming,
things ond learn betier tham people

fect of teachers pdﬂw:t_g.r waling

who it at e

cA=DI 2014

second reasen (g
5 gvore I tune 'a.-|ﬂ|111;:'lrﬂ:-a:\it‘-z
O prychBicdl developmgry,
i o _I.u;nu‘l'lﬂg is l_‘mtll.v;-lu.l: 1I-u.:
o erodsing DNy of
el e 0SBl el diresnd 'l'-'lszl
o0 Jhat TANY of the ey l.'lc".-ub.;'p-
third 722 puation Pt 2 heavy respossibiliny on
o ke food deal of initistive i
o learning: TO t9cet the challenyes iy
their UV puctive  COVINNIENL, - self-hirecteg

i eagential.

il
amid

Teami=E i
106, I it direoted |camiBE, on individiul

(A Takes minative with oc without the
feip of athiers

(B 1y passive andd wahs for directions

0 I helpless and dependent

1 Takss iititive, without i chjective
ju7, There is pead for scti-directed lesming

b

(A) it is lss challonging

{B) ft helps people 1o leamn more things

arxd Jearmi begter

(C) i s & mors coat-aifective method

{1 it 5 & modemn method of leaming
108, Which' word best describes ssli-direcied

.b_ﬂ_lﬂing?.

(A} Active leaming

{C) Compulsory learming
e mm environment accarding 10 the

iz

(1) Reswicifye (B Tnsnoet®

() Less developed (D) Mmpracticati
o, AR

3 g:;m““&"“ of the word “diagnosiné =

) Atching (B) Fsamini®

Wemtifyng () Comrl®®

i
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